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1
./ —K: Cold, Flu, Malaria, ¥/ — K: Fever
Qmaitaria = P(—fever|—cold, =~ flu, malaria) = 0.1
4 = P(—fever|cold, flu,~malaria) = 0.2

Qcoia = P(—fever|cold, —flu, —malaria) = 0.6

P(xi|parents(Xl-)) =1- 1—[ q;
{J:Xj=true}
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Cold Flu Malaria P(fever) P(—fever)
false false false 0.0 1.0

false false true 0.9 0.1

false true false 0.8 0.2

false true true 0.98 0.02=0.2x0.1

true false false 0.4 0.6

true false true 0.94 0.06 =0.6 x0.1

true true false 0.88 0.12=0.6 x 0.2

true true true 0.988 0.012=0.6 x0.2x0.1
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Cost

REBEMEREH Subsidy(BIRKE), Buys(BEA)

ERERLT I Harvest (INFEE), Cost(litg)
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1 _1
P(c|h, subsidy) = N(a;h + b;, 6?)(c) = e 2(

oV2om

1
P(c|h, =subsidy) = N(afh + by, afz)(c) = af\/%e
OEMERIKT SRR ERDOHEERS T
HEHE—TELULEDELZS 112, LUTEDL 0ITEVLVEERS M
ERAMORBAMEHK (FOEY M)
D(x) =f N(0,1)(x)dx
o —c+u
P(buys|Cost =) = <1§< - )
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P = 1+e7*
P(buys|Cost =c) = @ (2 et Il)
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§14.4 RA T Uy FDEREHER

i BREDHAEReAEA N3 & T EMEBXDERERDIHPX|e)EFET
Sl b, BAEReSHERDEREIEZENYETEL D,

ETHOEHES X={X}JUEUY
Y: BNEHGEI., FEEFROERES)
151

P(Burglary|JohnCalls = true, MaryCalls = true) = (0.284,0.716)

§ 14.4.1 H|Z(Z Kk Hittim

P(X|e) = aP(X, e) = az P(X,ey)
y

RADToRY FEFEL>TPX, e, y)EROTPX|e)EETETNIEIRLY,
11

P(Burglary|JohnCalls = true, MaryCalls = true)

P(Blj,m) = aP(B.jm) =a ) ) P(Bj.m.e,a)
a

e

st EE o(n2")

P(bljm)=a )" ) P(B)P()P(alb,e)P(jla)P(mla)

— aP(b) Z P(e) z P(alb, &)P(j|a)P(m|a)

= aP(b){P(e)(P(aIb,e)P(jla)P(mla) + P(—alb, e)P(j|—|a)P(m|—|a))
+ P(=e)(P(a|b,=e)P(jla)P(m|a) + P(—|a|b,—|e)P(j|—|a)P(m|—|a))}
= 0.001 x (0.002 x (0.95 x 0.90 x 0.70 + 0.05 x 0.05 x 0.01) + 0.998
% (0.94 x 0.90 x 0.70 + 0.06 x 0.05 x 0.01)) = «0.00059224
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RI#&IZP(—blj,m)ERD S
P(=blj,m) = €0.00149191
& >T. P(B|j,m) = a(0.00059224,0.00149191) = (0.284, 0.716)
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